
Bauplanmappe
Ord.No. 8600

08/07

VARIO Helicopter • Seewiese 7 • D-97782 Gräfendorf 
                                        Tel.09357 • 9710-0  Fax 09357 • 397  
www.VARIO-Helicopter.de • www.VARIO-Helicopter.biz • info@VARIO-Helicopter.de

R

Uli Streich



Sollte es bei einer vormontierten Baugruppe Beanstandungen geben, darf 
die Baugruppe nicht zerlegt , sondern muß - im Originallieferzustand - 
zurückgegeben werden. Nach Zerlegen kann eine Beanstandung nicht 
mehr nachvollzogen bzw. anerkannt werden. Mit dem Auseinandernehmen
der Teile erlischt jeglicher Garantieanspruch.

If you are dissatisfied with any factory-built assembly it is essential that you
return the whole assembly, in its original state as supplied, rather than
dismantle it. Once you have dismantled the assembly we are unable to
acknowledge or meet any claim or complaint. If you dismantled any
assembly you render your guarantee  invalid.

En cas de constat d'anomalies sur un ensemble prémonté, ne pas
démonter celui-ci, mais le retourner dans son état d'origine de livraison.
Après démontage, nous ne pouvons plus constater les raison du problème
ni le prendre en compte. Le démontage de ces ensembles exclut toute
prestation de garantie.

Qualora un gruppo di montaggio già prefabbricato dovesse dar luogo a
reclami, esso in nessun caso deve essere smontato, bensì va restituito nel
suo stato originale. Una volta smontato il gruppo, risulta impossibile,
ovviamente, comprendere e riconoscere il causale del reclamo. Pertanto
ogni e qualsia garanzia cessa con lo smontaggio.

En caso de reclamación de un componente premontado, no se puede
devolver el componente desmontado sino sólo en su estado original en el
momento de la entrega. Después de desmontar el componente no es
posible reproducir o aceptar la reclamación.Con el desmontaje de las
piezas prescribe el derecho de garantía.

Zouden er bij een voorgemonteerd bouwdeel sprake zijn van klachten en/of
bezwaren, dan mag dit bouwdeel in geen geval uit elkaar worden gehaald,
echter moet in de orginele afgeleverde toestand worden geretourneerd. 
Indien dit bouwdeel toch uit elkaar gehaald wordt, kan een bezwaar niet
meer in behandeling worden genomen, cq. erkent worden. Met het uit
elkaar halen vervalt elke aanspraak op garantie.

Skulle der være reklamation, på en formonteret byggegruppe, må denne
ikke skilles ad, men skal returneres i originaltilstanden. Efter afmontering af
en defekt byggegruppe, kan reclamationen ikke tages til følge. Ved
aftermontering af delene forsvinder al form for garanti.

VARIO Helicopter • Seewiese 7 • D-97782 Gräfendorf
Tel 09357 • 9710-0 Fax 09357 • 397

Poxan-622

Ord.No.622

Ord.No.11/29

Ord.No.10/11

Silicon
Ord.No.11/76

M2

Ord.No.11/77
M2,5

Ord.No.11/78
M3

Ord.No.11/79
M4

M 2,5
Made M 4   SW 2

M 4
SW 3

M 3
SW 2,5

Ord.No.11/18 SW 5,5M 3

M 2 Ord.No.11/19 SW 4

M 5
SW 4

Ord.No.11/17 SW 7

ca.  300 g

M 4

Ø 3,1mm

Ø 1,8mm

Ord.No.11/66
SW 10 Ø 6,34mm  

Ord.No.11/62
SW 13 Ø 8mm  

Made M3  SW 1,5

Ø 8mm

SW 2,5

M 4

Ø 3,2mm

Ord.No.11/26

Ord.No.11/52

SW 4

Ord.No.11/51
Ord.No.11/44

Ord.No.11/5

Ord.No.11/4

Ord.No.11/3

Ord.No.11/2

Ord.No.11/6



Ord.No.755/26

Surface has to be rough!

Oberfläche
muß angerauht sein!

Gyro

Ord.No.3202

1,8Ah

4,8 Volt

OIL

Sk

Receiver

!

(F)

Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

5-6 Servos

(Sh)

Ord.No.10/24

Fett

Ord.No.10/37

(Sh)
Ord.No.10/23

Sh

Ord.No.10/36

!

mit "Ord.No." versehene  Teile sind NICHT im 
Bausatz enthalten!

5-9 Kanal

!

Ord.No.3868

S

(S)

(S)

Sekundenkleber / Cyano glue

dünnflüssig / low viscosity
Ord.No.10/127

dickflüssig / high viscosity 
Ord.No.10/125

Ord.No.10/27

Ord.No.10/34

(K)

K

Ord.No. 8065 
Ord.No. 5138 
Ord.No. 1201

Ord.No.1401

Ord.No.10/66

Ord.No.742/40

Oberfläche
muß angerauht sein!

Surface has to be rough!



64/71
8x14x3,5

64/71
8x14x3,5

44/3
3x12mm

870/20

(S) Ord.No.10/24

870/39

870/22

890/49

871/22

90387
M4x6 (S)

830/17

3x 90055
M3x8 (S)

1

OIL

OIL

OIL

36/7

870/39

870/20

44/3

870/22

55/2
8x19x6

Ord.No.10/37

870/60
890/49

55/2
8x19x6

90387
M4x6 (S)

870/20



871/102

890/49

6x 90055
M3x8(S)

2

90595

55/1
10x19x5

90530 
M3

871/35

097

35/33

860/53

(S) Ord.No.10/24

90081 
M3x14 (S)

860/37
10x15,5x2,5

55/1
10x19x5

54/9



Ord.No. 860/28

!

Ord.No.1929

Ord.No. 90568
8x12x1

4x Ord.No.  
90600 Ø4mm

Ord.No.67/50 Ø 8mm

Ord.No.67/55 Ø 6,3mm

Ord.No. 67/46

Ord.No. 6 7/44 M8

3

Ord.No. 28/9

Ord.No. 67/45 1/4"

Ord.No. 67/47 5/16"

Ord.No.67/43  1/4"

Ord.No.67/42 M 8

Ord.No.67/41  5/16"

Ord.No. 2x 860/59

59/18 
1 mm

59/18 
0,5 mm

59/20 
ca. 1,8 - 2,3 mm

4x Ord.No.  90155
M4x16

64/5

64/17

(S) Ord.No. 10/24

860/64
860/11

90387 
M4x6 (S)

38/2
5x16x5

38/2
5x16x5

3x 90024
M 2,5x4

830/49

830/16 90387
M4x6 (S)



21

Version 2

Graupner JR

107/12
Ø 4,8

90260
M2x10

4x 90036
M2,5x12

4x 3942

JR

(S) Ord.No. 10/24

107/12
Ø 4,8

90260
M2x10

90485
M2 (S)

8x 90527
M2,5

8x 90527
M2,5

8x 90527
M2,5

4x 90036
M2,5x12

4x 90036
M2,5x12

4x 90036
M2,5x12

4x 90299
M2,5x22

4x 90299
M2,5x22

Nick

Roll

Version 1

Version 1

4x 3942

Nick

Futaba

Flugrichtung

Nick

6x 3942

Roll

Nick

6x 3942

Roll

4x 90299
M2,5x22

Ord.No.3941/40

Futaba

4

17

6x 3942

4x 90036
M2,5x12

4x 3942
8x 90527
M2,5

4x 90036
M2,5x12

4x 90527
M2,5

12x 90527
M2,5

4x 90036
M2,5x12

Roll 4x 90036
M2,5x12

4x 90299
M2,5x22

Roll

Version 2

Flugrichtung

4x 3942

Nick

4x 3942

Nick

8x 90527
M2,5

4x 90299
M2,5x22

Roll

8x 90527
M2,5

4x 90299
M2,5x22

Roll

Nick

6x 3942

Flugrichtung

6x 3942

Nick 4x 90299
M2,5x22

Roll

4x 90299
M2,5x22

Flugrichtung

90485
M2 (S)

Ord.No.3941/45



90055
M3x8 (S)

3x Ord.No. 90065
M3x10 (S)

860/50

5

3x Ord.No. 90545
3,2x9

808/5

890/49

808/4

4x 90050
M3x6 (S)

890/5

90055
M3x8 (S)

4x 90050
M3x6 (S)

!



9
1

2x 860/25

    
    3

.   
    1

.

2x 90100
M3x22

6

890/5

2x 90530
M3

!

870/24

5x 90030
M2,5x8

!

8x 90050
M3x6 (S)

2x 90530
M3

2x 90530
M3

2x 90065
M3x10

52/20

2x 90090
M3x18

860/120

860/26

Vergaserleitung

Entlüftung
Betanken

1.

3.
2.

Ord.No.11/97
Ø 5mm

carburettor fuel feed line
filler line
vent l ine

vers carburateur
remplissage
prise d'air

2.

3.

2.

1.



890/5

890/5

2x 
060/19

3x
060/2

68/7

2x
060/4

68/14

2x 90530
M3

7x 90050
M3x6

2x 90530
M3

ca
.  75 m m

890/5

2x 90085 
M 3x16

7

2x 90545
3 ,2x9

90330
2,2x6,5

13/11

13/11

A

122
2x 90085 

M 3x16

90330
2,2x6,5

Ord.No.11/87
Ø1,8mm

2x 90545
3 ,2x9

A

122

A



90485
M2 (S)

59/0
Ø3,1x12x1,7

8

3x Ord.No. 90545
3,2x9

90100
M3x22

90545
3,2x9

90530
M3

107/17

70/50

107/17

2x
4.

060/7
M2,5x5 (S)

90485
M2 (S) 107/12

Ø 4,8

90260
M2x10
90260
M2x10

4x 90527
M2,5

90055
M3x8(S)

90530
M3

860/25

808/5

2.

3.

3x Ord.No. 90065
M3x10 (S)

23x 90050
M3x6 (S)

90055
M3x8 (S)

808/4

1.

4x 90036
M2,5x12

860/50

90260
M2x10

107/17

107/17

70/80

060/3
M3x6

107/12
Ø 4,8



(S) Ord.No. 10/24

(S)
(S)

9

!

(S)

(S)



90415 (S) 
M3x8

!

90980
8x14x0,3

90980
8x14x0,3

060/15 
(S)

90380 (S)90050 (S)

90380 (S)

90380 (S)

72/40
72/32

72/32

90365 (S) 
M3x3

91/66 (S)

90050 (S)

54/16

90065 
M3x10 (S)

90255 
M2x8

90035
M2,5x10 (S)

75  
8x16x4

76/15

90810
3x5x0,5

8,2mm

8,0mm

117/6

117/5 (S)

!

10

90535
M4

71/26

90418 (S)
M3x14

56B

ca. 0,2-0,5mm

90810
3x5x0,5

90810

90810
58/11

58/11 
3x8x3

71/4

71/14

71/11
3x7x3

78/41

75 
8x16x4

75 
8x16x4

117/4

060/7

117/8

76/15

052

!

71/27

107/12
2,0x4,8

90810
3x6x0,5

71/16
3x7x3

71/16
3x7x3

56B

71/16
3x7x3

71/18

71/18

71/16
3x7x3

71/26

90255 
M2x8

107/12
2,0x4,8

71/27

71/11
3x7x3

90970
8x14x0,2

ca. 0,2-0,5mm

90820

9081084  
3x10x4

74/5

73/10

90245 
(S)

84
90415 (S)

90810

58/11

87/20

90075
M3x12 (S)

90810

58/11

90075
M3x12 (S)

54/7

90365
M3x3 (S)

90245 (S) 
M2x4

90820
90810

060/7

74/5

87/20

90050 
(S)

90541
2,5x5,8

90365
M3x3 (S)

060/15 (S)
40/1

82/32

79/10

80/20

90380 (S) 
M3x5

80/20
90050 (S) 
M3x682/25

82/32

40/1

90418 (S)
M3x14

B

D

71/14

(S) Ord.No.10/24
(Sk) Ord.No.10/127

90970
8x14x0,2

C = D

A

C

A = B

90810
3x5x0,5

91/66 (S)

71/11
3x7x3

71/19
2,5x8x2,8

87/21

90035
M2,5x10 (S)

71/19
2,5x8x2,8

87/21

90810
3x5x0,5

78/41

71/11
3x7x3

90541
2,5x5,8

75  
8x16x4

8,2mm

8,0mm

90535
M4

052 
M4x33

117/4
117/8

117/5 (S) 
M5x14

117/6



70/50

Ord.No. 11/73 
Ø2,8 mm

2x

Ord.No. 11/73 
Ø2,8 mm

2x

ca
. 6

5m
m

M 3

Ord.No. 107/17

107/17

107/17

Ord.No. 107/17

M 3

107/17

107/17

107/17107/17

ca
. 8

5m
m

107/17

11

107/17

107/17

89/2

70/50

70/50

107/17

107/17

097 
M3x18 (S)

90495
M3

107/17

70/71

89/2

107/17

107/17

ca
. 6

5m
m

ca
. 6

5m
m

ca
. 9

5m
m

ca
. 8

5m
m

ca
. 9

5m
m

70/71

107/17

107/17

70/50

ca
. 6

5m
m

107/17



94/6
6x10

Fett

90547
3,7x890062

M3,5x8 (S)

91310
6,3x7,85x0,18

99 A
6x10x2,5

90255
M2x8

107/12
Ø 4,8

90485
M2(S)

Ord.No.10/37 Linksgewinde

90020 
M2x10

(S)

!

90538 
2x4x1

107/24
2x5x2,3

107/24
2x5x2,3

90538 
2x4x1

counterclockwise

90020 
M2x10

(S) Ord.No.10/24
(Sh) Ord.No.10/23

054
M3x20

94/6
6x10

90062
M3,5x8 (S)

90530
M3

Fett

90547
3,7x8

91310
6,3x7,85x0,18

103/10

99 A
6x10x2,5

Fett
4x 90010

M2x6

90900
5x10x0,2

92/31 90365
M3x3 (Sh)

96/1
5x13x5

4x 90010
M2x6

Fett

ca. 0...0,6mm

96
5x13x4

94C

90365
M3x3 (Sh)

Ord.No.10/36

92/32

Ord.No.10/36

94/15

92/31

49/12

Ø 6,0

4x 90010
M2x6

90365
M3x3 (Sh)

92/30

95/5

96/1
5x13x5

95/5

90365
M3x3 (Sh)

96
5x13x4

71/11

97/7

Ø 6,2

99 A
6x10x2,5

107/12

98/15

Ord.No.10/36

71/11

97/10

90250
M2x6 (S)

99/9

90425
M3x20 (S)

90810
3x5x0,5

OIL
99 A
6x10x2,5

90370
M3x4 (S)

103/10

90530
M3

12

Ø 6,2

Ø 6,0

Ord.No.10/36

90370
M3x4 (S)

101/13
99 A
6x10x2,5

054
M3x20

90910
5x10x0,3

90910
5x10x0,3

!

90890
5x10x0,1

90900
5x10x0,2

!

ca. 0...0,6mm 90890
5x10x0,1



Ord.No. 11/29

Ord.No. 11/57

49/8

17/17

ca.270 mm

Ord.No.10/37

49/7

13

870/3

320

Ord.N o. 11/57

Fett

49/8

3x 90385
M 4x4 (S)

2x 90385
M 4x4 (S)

49/7

(K)

17/17

49/8

2x 90385
M 4x4 (S)

49/7
320

17/16

ca.570 mm

Ord.No.10/27

M

(S) Ord.No. 10/24
(Sh) Ord.No. 10/23
(K) Ord.No. 10/27

17/16

6420

M + 1 mm

62 40

0,5mm
!

0,5mm

M  +  1 m m

Ord.No.10/36

(Sh) Ord.No.10/23

(K)

17/22
6x13x5

OIL

(Sh) Ord.No.10/23

17/62



Ord.No. 11/87
4x Ø1,8 mm

90490
M2,5

90490
M2,5

90280
M2,5x8

90280
M2,5x8

90260
M2x8

90485
M2(S)

2x 90275
M2,5x6

8/5

8/5

107/12
Ø 4,8

21/4

90362
M2,5x16

Ord.No.10/26

107/17
2,5m m

90362
M2,5x16

107/17
2,5m m

Ord.No.10/26

14 (S) Ord.No.10/24

3x 90040
M 3x4 (S)

800/38

2x 90490
M 2,5 (S)



ca. 7
00mm

860/10

ca. 7
00mm

(K)

15

90055 (S)
M3x8

(K)

(K)

90545
3,2x9

90325
2,2x4,5

870/17

Ord.No.10/125

800/50

870/17

90530
M3

90115
M3x35 4x

3x 90050
M3x6 (S)

34/12

860/10

90325
2,2x4,5

90545
3,2x9 (K)   Ord.No.10/27

90545
3,2x9

90055 (S)
M3x8

90545
3,2x9

90075 (S)
M3x12

(S)   Ord.No.10/24

90075 (S)
M3x12

Ord.No. 11/87 
Ø 1,8 mm

Ord.No. 11/57

90115
M3x35

90530
M3

860/31

Ord.No. 11/87 
Ø 1,8 mm

90325
2,2x4,5

870/17

(K)

870/17



Ord.No. 116/33

Ord.No. 116/2Ord.No.860/81
Ord.No. 11/29

Ord.No. 20/3

Ord.No. 90160
M4x18 (S)

Ord.No. 90535
M4

Ord.No. 90560
4,3x9

Ord.No. 90175
M4x25

Ord.No. 310/12

Ord.No.115B

Ord.No. 90560
4,3x9

Ord.No. 115/11

Ord.No. 116/2

16

Ord.No. 90535
M4

Ord.No. 116/4



Ord.No.11/68
Ø 6,0mm

17

Ord.No. 11/2 6

10/84
10/90

Ord.No.11/81
Ø 8mm

860/9

10/90

800/35

800/ 35

10/84



Ord.No.3202

1,8Ah

4,8 Volt

Gyro

18

Ord.No.755/26

Ord.No.3868

Ord.No.10/66

Ord.No.742/38

Receiver

Ord.No. 8065
Ord.No. 5138
Ord.No. 1201

Ord.No.742/38

Ord.No.742/40

Ord.No.1401



Maximaal toelaatbare rotortoerental afgestemd op de rotordiameter.
Gebruikt U alleen de aanbevolen rotorbladen voor uw model - met de passende aandrijfoverbrengings-verhouding!

La velocidad de rotación máxima admisible del rotor de los correspondientes diámetros del rotor:
Solamente utiliza usted las palas de rotor recomendadas para su modelo - con la transmisión de reducción 
correspondiente.

Maximum permissible rotor speeds for the corresponding rotor diameter:
Use only the rotor blades recommended for your model - with the appropriate gearbox reduction ratio!

Régime de rotor maximal en fonction du diamètre de rotor:
N'utilisez que les pales conseillés pour votre modèle - avec le rapport de transmission en conséquence!

Numero dei giri massimalmente ammissibili per le rispettive pale:
Osservate di utilizzare per il Vostro modello solo e soltanto le pale consigliate, provvedendo inoltre ad un appropriato 
riduttore.

Verwenden Sie nur die für Ihr Modell empfohlenen Rotorblätter - mit entsprechender Getriebeuntersetzung !
Maximal zulässige Rotordrehzahlen der entsprechenden Rotordurchmesser:

Ø 1500mm

Ø 1600mm

Ø 1400mm

max. 1200 U/min (Rpm)

max. 1350 U/min (Rpm)

max. 1500 U/min (Rpm)

max. 1600 U/min (Rpm)

max. 1700 U/min (Rpm)

!

!

!

!
Ø 1700mm

!
Ø 1800mm




